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	1.
	Simplify.     (m6)9



	2.
	Simplify.     
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	3.
	What is the degree of the polynomial x12 – 5x4?



	
	A)  12    B)  –5    C)  5    D)  4


	4.
	Find the value of the polynomial –x2 – 8x – 5  when x = –5.



	
	A)  10    B)  –70    C)  20    D)  60


	5.
	Evaluate (assume x  0).


9x0


	
	A)  0    B)  1    C)  9    D)  9x


	6.
	Write using positive exponents, and simplify if possible.


(–3x)–2


	
	A)  
[image: image6.wmf]2

9

x

    B)  
[image: image7.wmf]2

1

9

x

    C)  
[image: image8.wmf]2

9

x

-

    D)  
[image: image9.wmf]2

1

6

x




	7.
	Simplify.  Write your answer with positive exponents only.
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	A)  
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	8.
	A triangle has sides 2x – 5, 3x + 1, and 4x + 2.  Find the polynomial that represents its perimeter.



	
	A)  (2x – 5)(3x + 1)(4x + 2)    B)  24x – 10    C)  9x – 2    D)  10x – 8


	9.
	Multiply.     (3x – 1)(2x + 5)



	
	A)  6x2 – 13x – 5    B)  6x2 – 17x – 5    C)  6x2 + 13x – 5    D)  6x2 + 17x – 5


	10.
	Divide.     
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	A)
	x3 – 3x2 + 10x – 30 + 
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	C)
	x3 – 3x2 + 10x + 30 + 
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	B)
	x3 – 3x2 – 10x – 30 + 
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3

x

-

+


	D)
	x3 – 3x2 – 10x + 30 + 
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	11.
	Factor.    –21x3 + 49x2


	
	A)  7x2(–3x + 49)    B)  7x2(–3x + 7)    C)  –21x2(x + 49)    D)  21x(x2 + 49x)


	12.
	Factor.     3a2(a – b) – 6a(a – b) + 21(a – b)



	A)
	(a – b)(3a2 – 6a + 21)
	C)
	3(a – b)(a2 – 6a + 21)

	B)
	3(a – b)(a2 – 2a + 7)
	D)
	(3a – b)(a2 – 2a + 7)


	13.
	Factor completely.     6b4 – 18b3 – 60b2


	A)
	6b2(b + 2)(b – 5)
	C)
	6(b2 + 2)(b2 – 5)

	B)
	6b2(b – 2)(b + 5)
	D)
	b2(2b + 5)(3b + 10)


	14.
	Factor completely.     12x3 – 3xy2


	A)
	12x(x – 3y)(x – y)
	C)
	3x(2x + y)(2x – y)

	B)
	3x(4x – y)(x + y)
	D)
	3x(2x – y)2


	15.
	Factor completely.     9x2 + 30xy + 25y2


	A)
	(3x + 5y)2
	C)
	(9x + 5y)(x + 5y)

	B)
	(3x – 5y)(3x + 5y)
	D)
	(3x + y)(3x + 25y)


	16.
	True or False?     x2 + 2x – 3 = (x + 1)(x – 3)



	
	A)  True

	
	B)  False


	17.
	Rewrite the middle term as the sum of two terms and then factor completely.     


25x2 + 35x + 12



	A)
	(5x + 4)(5x + 3)
	C)
	(25x + 4)(x + 3)

	B)
	(5x – 4)(5x – 3)
	D)
	(5x + 1)(5x + 12)


	18.
	Solve.     x2 = –6x


	
	A)  0, –6    B)  0, 6    C)  6, –6    D)  2, 6


	19.
	State which method should be applied as the first step for factoring the polynomial.


2a2 + 9a + 10



	A)
	Find the GCF.

	B)
	Group the terms.

	C)
	Factor the difference of squares.

	D)
	Use the ac method (or trial and error).


	20.
	State which method should be applied as the first step for factoring the polynomial.


 3x2 – 5xy + 3x – 5y


	A)
	Find the GCF.

	B)
	Group the terms.

	C)
	Factor the difference of squares.

	D)
	Use the ac method (or trial and error).


	21.
	Write in simplest form.     
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	22.
	Write in simplest form.     
[image: image21.wmf]2

2

9

6

b

bb

-

--




	
	A)  
[image: image22.wmf]3

2

b

b

+

+

    B)  
[image: image23.wmf]3

2

b

b

--

+

    C)  
[image: image24.wmf]3

2

b

b

-+

-

    D)  
[image: image25.wmf]3

2

b

b

-+

+




	23.
	Subtract.  Express your result in simplest form.
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	24.
	Subtract.  Express your answer in simplest form.
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	25.
	Add.    Express your answer in simplest form.
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	26.
	What values for x must be excluded in the following fraction?
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	A)  0    B)  –3    C)  3    D)  None


	27.
	Solve.     
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 + 6 = 6



	
	A)  0    B)  18    C)  30    D)  48


	28.
	Solve.     
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	A)  8    B)  
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	29.
	Simplify.     
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	30.
	Simplify.     
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	31.
	Evaluate 
[image: image55.wmf]36
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	A)  18    B)  6    C)  3    D)  Not a real number


	32.
	Evaluate 
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	A)  6    B)  –6    C)  –18    D)  Not a real number


	33.
	Evaluate 
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	A)  –4    B)  –8    C)  
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	34.
	Determine whether 
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 is rational or irrational.



	
	A)  Rational    B)  Irrational


	35.
	Use a calculator to approximate 
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 to the nearest hundredth.



	
	A)  4.95    B)  5.10    C)  5.33    D)  5.45


	36.
	Simplify.    
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	A)  54    B)  
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	37.
	Simplify.  Assume all variables represents positive numbers.
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	38.
	Simplify.
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	39.
	Simplify.    
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	40.
	Simplify.    
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	41.
	Simplify.    
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	42.
	Simplify.    
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	43.
	Simplify.    
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	44.
	Solve.    
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	A)  44    B)  10    C)  –2    D)  No solution


	45.
	Find the distance between (–3, –2) and (1, 4)



	
	A)  27    B)  
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	46.
	Solve.    x2 + 5 = 21



	
	A)  
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	47.
	Solve.    (x – 4)2 = 3



	
	A)  ±13    B)  
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	48.
	Find the constant term that should be added to make the following expression a perfect-square trinomial.


x2 + 3x
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	49.
	Solve by completing the square.  


x2 = 5x + 2



	
	A)  
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	50.
	Solve by using the quadratic formula.  x2 = 3x + 12 
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